Use substitution to find the following integrals:

1. /2$V$2+3d$ 2

X (x%a3)"

4. f e2* 43 dg

2%+ 3
'%_c +C

3
7./$+4d:c 8.

Al (xsu) 1 C

10. ]\/ —J:d::: 11.

(qx) J.C.

[ray

3m
13. sin(— —
3 /bln(2x+4)d3: 1

2 AT 7
-~z cos (T xe g )i

3
16. / vzl +1dx 17

0

/0.207¢

2 2
= / Vi
31342

w/3
22. / sinzcosz dz 23.
0

0.295

El,"l

/

20.

/
/

/

/

3

5cos(3x) dx

%gin (304 ¢

ze~=/? dx
-x/2
e 4C

1
5—1x

(n(5-x)tc
V2 — dsc

(x-l) e

dz

cos(2z — 1) dz

‘lli' S'm(lx' DtC

=

2/x3 + 2 dx
587158

3. ]7$2 sin(4z®) dz
= {’-15_ s (4x%) + C

T+ 2

. d
& _/$2+43: v

i" Ln’xl-i"[xl +C

9. _/\/:'c—i— dz
3/,_
-(xn)

12. /(mz—Z)md:ﬁ
%(xhenﬁh
15. f(4x—3)mofx
%(ZX"*'SR*Z)%*C
3
18. : (;—i—%dm
0.00345 %

i . e~1;2(z—2)2 o af e” ”
/;( 2) dzx 21. /m4 —_(eI—Z})Q d
0.1%¢81I

/

/6
sin’ z cosz dz
7 /6

0.063332

-0, 75



